EANRAROBESIFRT — 2 N—ZABISH—F 20205F1H258 (£) 1E/MVESH

m-lf—;-% 3 FKEF (BE) [HET] BE# ‘ [xz] & ‘ [eErsm]  — | & (%) 10000 &
[A&4£] 1 7% :5,100,000 2 & :2,000,000 @ 33 :1,300,000 @ 4 3 :770,000 @ 5 % :510,000 A
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
A # 3 | BBRE 57.9 1-1 35.1] 947 | 2 552 | ZRE— (FR)
1711 @1y > 5.0 (-) (-p) | HEH
AL :Take Charge Indy #£2:Appealing Stella Stonecliff Farm
= . iz ppERch 2 — . . WHFTE (BER)
2 5 LFE 4 A4 LR % 3 £l 5(98) 2-2 36.4 | 82.6 1 :?g) el L
RA—J XA A1 B:ANA A+ T — TS
N ERBZ - HEZR (E#)
N : BEEEEOLEI # 3 28 (1591./44> 10-10 | 35.9]79.8 | 3 fﬁ e
RS HINEry b BiRavIALLY ERT7— L
— = S # 3 | ARHER 59.4 4-5 36.3| 79.8 | 5 490 | SIEHR (FH)
4 2| TA—HF7—X 56.0 () (1) | BATR
L:ZgY—>bE—0O— B:AXREHT—X JXET21-T7—L4
s g s BEEAD . = . . BORAIE (EX)
50813 SENGF a9 4 3 Ay (5)5\3;_1) 3-3 36.5| 80.5 12 (4_24) A
L:NZ—ka1—X B:dy kg7 K B
o HHEA = MKER (ER)
6 4 4 rEAEA 4 3 g4 (579;}) 8-6 36.0 | 79.8 8 (4:8 éj%:*
R:N=-YI54 B:5T2—t1N—F (B) #AEI-FKL—Ya>AET7
N N FEF ARk = e RB= (EX)
7l 7z=n7rann i 3 Ex (519/.25; 4-3 36.5| 79.2 | 4 (432) L e
L:bhwHio-)— B:T7z-L7—U— =Slipse]
IR SN iyl - SHE— (EXR)
N e ol gh R
RIAY>7599a Bieas Il #h
s 2 4 3 | AEEFEN 59.8 8-6 36.4| 75.9 | 11 472 | BEBFIEL ()
9 9 *Xa/2FHY 54.0 (1 1/2) (+14) FEFFE A
LX=—HANK B XF—UZX31I B 45
3 3 4t 3 | SElE— 59.9 14-14 | 35.8| 74.9 | 7 432 | KIESH (FEF)
10 3> ¥/ RE=F 57:1.0 (1/2) (-4) aOXF
R:¥XXF BTAT LT EARKE
5 - 4 3 | BEXLT 1:00.0 10-12 [ 36.5| 74.0 | 6 492 | ARAERIL ()
17|12/ 7>7R—=2 54,0 (1/2) © | ) snviFe—¥5TLy KR
LidprelX BiavIAT BEZ %Y K
S, n8 = 4 3 | WEHE 1:00.0 12-12 [ 36.3| 74.0 | 13 484 | MAKERF (3EH)
12|58 | F¥E2/ Vv >T 1 A53.0 ) (o) |AFREA
R:Z/ v Ta BIIRTA—HA LR 45
% o3 | BHF 1:00.4 12-10 | 36.7| 70.3 | 14 | 436 |lIF#E (E®)
13(5|7 | TT>=>/XT 7 56.0 2 1/2) o) | ) e
R:IfY>T7Fyva BiN—bITA—H2ZR RN
s S 43 | WEEH 1:00.8 4-6 37.7| 68.1 | 9 438 | PR (i)
14/ 8]14| b—E>>—=1X A54.0 2 1/2) o) | Bl
L:bh—t>EFF—7 B:bh—t2ZXZ2y7 BRRStt IXF1T77—ALA
@ 21 L
£y 45.8-35.1
N 24 L | 12.1-10.7-11.5-11.8-11.8
® I—F—&EBIERL
13-7-
23—7F—
g =5r= (x11,5)13(1,2,14)10(4,9) (6,12) (7,8)-3
43—F— (x11,5) (1,13)2(4,10,14,9) (7,6) (8,12)3
[ N
B R 1 310M | | 71 K 5-11 190 | | # & 4-7 310 | | =& 5-6-11 1,010
# B 1 1209 6-11 340 B E =11 460 EE 11-5-6 3,450/
5 110 5-6 350M B H 11-5 920M
6 1409

ABRICOVTHRTEEERROODE, THEB LS,




